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Find The Errors Question for IBPS Clerk Pre and SBI Clerk 

Pre 

Find the Errors Quiz 23 

Directions: In the following question, some part of the sentence may have errors. 

Find out which part of the sentence has an error and select the appropriate 

option. If a sentence is free from error, select 'No Error'. 

1. The government has introduced (A) / a new law who forces (B) / 

farmers to sell their produce (C) / only to licensed dealers. (D) / No 

error (E) 

A. The government has introduced 

B. a new law who forces 

C. farmers to sell their produce 

D. only to licensed dealers. 

E. No error 

 

2. If we have to be (A) / competitive, we must be (B) / ready to face 

(C) / various technical challenge. (D) / No error (E) 

A. If we have to be 

B. competitive, we must be 

C. ready to face 

D. various technical challenge. 

E. No error 

 



 

 

3. He has a reputation (A) / for acquiring bankrupt companies, (B) / 

restructuring them and sells (C) / them off for profit. (D) / No error (E) 

A. He has a reputation 

B. for acquiring bankrupt companies 

C. restructuring them and sells 

D. them off for profit. 

E. No error 

 

4. The only option (A) / for the bank is (B) / to modernize its 

operations (C) / at all their branches. (D) / No error 

A. The only option 

B. for the bank is 

C. to modernize its operations 

D. at all their branches. 

E. No error 

 

5. The lack of no funds (A) / has resulted in several (B) / delays in 

launching our (C) / new product in India. (D) / No error (E) 

A. The lack of no funds 

B. has resulted in several 

C. delays in launching our 

D. new product in India. 

E. No error. 



 

 

 

6. Over the next five years (A) / the government needs to invest (B) / 

at less 350 billion dollars (C) / in rural infrastructure. (D) / No error (E) 

A. Over the next five years 

B. the government needs to invest 

C. at less 350 billion dollars 

D. in rural infrastructure. 

E. No error. 

 

7. According to the consultant (A) / a more detail analysis of (B) / 

customer needs (C) / and product pricing is required. (D) / No error (E) 

A. According to the consultant 

B. a more detail analysis of 

C. customer needs 

D. and product pricing is required. 

E. No error 

 

 

 

 



 

 

8. It is evident that (A ) / the banking sector has underwent (B) / 

tremendous changes during (C) /  the past two decades. (D) / No error 

(E)  

A. It is evident that 

B. the banking sector has underwent 

C. tremendous changes during 

D. the past two decades. 

E. No error 

 

9. The ongoing merger among (A) /  the two companies will (B) / have 

an adverse (C) / impact on consumers. (D) / No error (E) 

A. The ongoing merger among 

B. the two companies will 

C. have an adverse 

D. impact on consumers. 

E. No error 

 

 

 

 

 



 

 

10. Inspite of (A) / so many hardships (B) / Amar has managed (C) / to 

success. (D) / No error (E) 

A. Inspit of 

B. so many hardships 

C. Amar has managed 

D. to success. 

E. No error.  

  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 
B D C D A C B B A D 

 

Explanations: 

1. 
In part B, the relative pronoun 'who' must be replaced with 'which' as 'law' is not a 

living being. 

The correction formation will be- 'The government has introduced a new law which 

forces farmers to sell their produce only to licensed dealers.' 

Hence, option B is correct. 

 

2. 
In part D, the word 'challenge' must be in plural form as the adjective 'various' before 

it, refers to 'of different kinds'.  

Hence, option D is correct. 

  

3. 
In part C, 'sells' must be replaced with 'selling' to make it a grammatically correct 

sentence. 

Hence, option C is correct. 

  

4. 
Under the context, bank is a singular non-living entity for which the pronoun 'its' 

must be used in possessive case instead of 'their' in part D. 

So the correct formation will be- 'The only option for the bank is to modernize its 

operations at all its branches.'  

Hence, option D is correct. 

  

 



 

 

5. 
In part A, there are two negatives- 'lack' and 'no funds' which cannot go together. 

The correct formation will be - 'The lack of funds has resulted in several delays in 

launching our new product in India.  

Hence, option A is correct. 

 

6. 

In part C, the phrase 'at less' must be replaced with the idiom 'at least', which means 

'not less than', to make it a grammatically correct sentence.  

Hence, option C is correct.  

 

7. 
In part B, the noun 'detail' must be replaced with the adjective 'detailed' to make it a 

grammatically correct sentence.  

Hence, option B is correct. 

  

8. 
In part B, 'underwent' must be replaced with 'undergone' (past participle of undergo) 

as the sentence is in Present Perfect Tense which is formed with a present tense 

form of 'to have' plus the past participle of the verb. 

Hence, optiion B is correct. 

  

9. 

To make the sentence a grammatically correct one, in part A, the preposition 

'among' must be replaced with 'between', which is used while talking about a choice 

that involves two people, groups, or things.  

Hence, option A is correct. 

  

10. 
In part D, 'to success' must be replaced with 'to succeed' as part D has to be in the 

infinitive form (to + verb) in the context of the sentence.  

Hence, option D is correct 
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